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Note :— This paper contains fifty (50). multiple-choice questions, each questlonl

carrymg two (2) marks. Attempt all the questions.

dla 2wy WA §4 YO aglselly sl @ E25 L 0L B, ol % Nl

1.

WOl UYL,
‘The new industrial policy was introduced in Ind.ta by the Government in :
(A) 1981 : (B) 1991
(€). 1998 @ 1951

S AR gl Al el AR AL ymda adlyi wva sami
Al |

- (A) teced - (B) ekt
©) e - D e
The second Five Year Plan in India was based on which of the following
‘model ? |
(A) B. 8. Minhas Model (B) Gandhian Model
(C) Mahalnobis Model =~ (D) None of these
A culda sw Wdd w2 e Yuayly Yioril AR gl ?
A) ofl.xn. Brein Hida . B) dliluq Wida
(©) usiariolls Hisy @) il 65 R

The Government of India have initiated the process of thsmvestment in respect
of public sector units under the. pohcy of :

(A) Nauonahsatmn -AB) anatisation |

(C) Globalisation - (D) None of these

o AL AW Aol Bl 2’151-{1 [SzttS-a.zat‘lva (-l REuell azsuq
A -lla s A edl :

@) A5 | (B hu-taﬂ,sw-
(© Asdlsza @) Aidl Asuy R
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| Which of the following Committees has recognised the potential for the

operatlon of Merchant Banks in. the framework of deregulated industrial
eoonomy ? -

A Rangarajan Committee (B) Tandon Committée

(©) Lakadawala Committee = (D) Narasimham Committee

B i a»tz[dvt-u sl walee t?ts‘t-u AmfAa cqqe.tit& QA 5§
ARAR el 20y S ¢

@ o ABR ® do AR

©) aissiual aRR | @ 1Bien AaBR |
SEBI has mtroduced various guidelines as regulatory measures regardmg
(A) Capital issues (B) Currency issues ‘

(C) Credit control | - (D) Price control o

Aol AA-A ousidami 59 Fiqms waiziq deelui AR wolsBiswl sua
s34 8 :

A) 48l Hsl wisa :uiSl - (B) AAR SR WSq

(©) wet vigy | ©) Bad viga |

Depreciation Fund of a firm at the time of admission of a partner is transferred
to : .

(A) Profit/Loss Adjustment A/c

(B) Capital accounts of existing partners
{(C) Capital accounts of all partners

(D) None of the above

sefleizil Hde il ww o Dl v af i wd B
(A) "sUgsuA sl vig

(B) sl el HEt v

(© o o cpofletdi-t 3l vud

@) Guisd i) Asw 1R
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7. When a holding company has sold goods to its subsidiary company and if -
~goods remain in stock:in the books of the submdlary company, then proﬁt
on the same is known as : |
(A) Unearned/unrealised profit (B) Net profit

(C) Capital profit D) Operatlng profit
wids Sul ol Su-ld e A2 G A auiel sumr WU e w‘l Sy,
; ©end oller sudll- 2dismi wnlda 8L 1A Horoedl st AUy :
‘ @) B suqa/Bi- Uss sl
“ 0 (B) Avwl st
(©) 48l sl
@ sdsdl «asi | .
8 In regélrd to a managerial problem involving key factor, the most relevant

guiding information will be :
(A) Total expected contribution
(B) Profitability : .
~ {C) Contribution per unit of key factor
(D) - Excess of contribution over fixed cosé
Fui adlzu wWRan Asudd ey ddlAnasly usql s 53l quad w[t».aib
Hoild R 02 yoror-l awuy :
@) UM g sl
(B) SIS 5c0
() wdl 3u ke els an[@.& sl
@) Al vl ay A sl wH
9, The unclaimed dividend is shown on the liability side of the Balance Sheet
~ of a company under the heading :
[‘ - {A) Reserves and surplus (B) Provisions .
(C) Current liabilities ' (D) Miscellaneous items
sulir wst w3 AR Houale [S[a.s«s 2ai ouy euladl aua 2 Wl&ét
/ faels den ~le -
(A) -t dal a4l ©® °3t01q16m
© g 2ai - D) YW il
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- 10 If the annual sales amount to Rs. 10,000 (volume 5,000 units), variable cost
- amounts to Rs. 3,000 and fixed cost amount to Rs. 5,600, then the margin
of safety in units will be : | . '
(A) 1,500 (B) 1,000
(C) 2,500 | | @) 2,000
- afifs dwum 3. 10,000 (4,000 N, Al vl 31 3 000 A 2l ba[
3. 4,500 din, cud Asil-n 2azuni yamdl-d oudl 03 Yoo, dARUY 1
A) 1,400 ' (B) 1,000
(C) ,400 ®) 1,000
11. A perfecﬂy competltive firm can decude
" (A) Only price of its product
(B) Only guantity of its product
(C) Both price and quantity ‘of its product
(b) All of the above
aiyel e&stﬁgsd Uil QA suod 209 gy sz‘l s
A) W d-ll agell s Bud
B) WA -l Q- wel
© a-ll gl “m Bud 2 argedl o) f't""l
@) Gu ywot oaiy | _
12. Total revenue of a monopoly firm will be maximum when its marginal revenue

(A) Zero (B). Positive.
{C) Negative (D) All of these

_5"&213&1 W 58 wias S Wil a-l Wi 2uas Y yyudl
el _

@y - (B) asiAcs
(C) sy (D) 2wdai oy
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13.

14,

15,

16.

Price elasticity is defined as : -
(A) Change in gquantity to change in price

(B) Average quantity to average price

() Proportlonate change in quantity to proportmnate change in price
(D) All of the above '
BBad sl 2ed :

@) Budui 2da 32810 sl i %wz

(B) A Budani add 35127 2l uI e weuni wdey %wz

(€) Budui ade WA F513+0 i el alla WA 3812

®) G wai ¥

The output level where a monopoly firm earns only -normal proﬁt_-mll be :.

(A) Equal to optimum level (B) Less than optimum level

(C) - Above optunum level (D) All of these

SAUYsa W ¥ ool sauB aura 51 sudl Siw @ sai 1A uﬁm Sy €9

A) ean weudl sa (B) Sreau -l seusdl iissi mt
© () Svedy el ay oel ) sudenmizfl ud

The demand for electricity is a :

(A) Joint demand

(B) - Composite demand _ _

(C) Both joint and composite demand =
(D) None of the above

Qi diar QA Yool asuy :

(A) AYsa Widxn |

B) wyles uia

(©) o=l s dal WyRs wiv

D) Gusanidl Asya <R

~ A sampling technique in which each and every 1tem of a population stands

equal chance of being selected for a sample, is known as :

~ (A) Snowball sampling -

(B) Stratified sampling
(C) Simple random samp]mg

(D) Cluster sampling .
Qi €35 st th W12 waie l’-lQlf[l A s FHL NS B, Ad] Pl‘é.%f'i

yglan A Yoo deliaaidi 2ud B

A) tclta [Redq ygla

B) wlgd Fedd wgla

(O el 2usils (random) Fl%&["l ’-lﬁ[&
O %2 Red wa[&
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17.

18.

19.
|
|

A distribution in which Mean, Median and Mode, all are equal is known as :

(A) Skewed distribution B Asymmetﬁcal distribution
(C) Normal distribution D) ‘None of these _ '
Adl QdY well  FHL ueus, s vl Glgds 6L UM i 9

A [@wn [Qda (B) R (Asymmetrical) [a.ctm
(©) W [Adw B ) ahma[l sléuet -1[@. |
Statements : - | |

(@) Coefficient of eorrelatxon is independent of scale but not of origin.
an Regnesswn coefficients are independent of both origin and scale. -
Which of the followmg alternatives is correct ?

(A) Both are true

(B) Both are false

(C) I is false and II is true

@) 1 is true and II is false

Q- :

(1) aedoiais A vl Adst @ 2w AR 3y 2azudl,

(1) Radeials N UL 2 ya a3y ool 2ddat 8.
43 2ua Rsedinidl Qo Rsey syl ?

A) ol WL

B) ol vzl §

(©) udd “ig 7 oflf Wy &

@) u8g w3 w oy WE

To test the significance of Coefficient of Assoc1at10n between two attnbutes,
which of the following tests is used ? : :

- (A) F-test | (B) Chi-square test -
(C) Z-test | D) Kruskal-Wallis test
Q el 4=+ ey Aoias yeuisH s A2 rudanifl 5§ s (auq‘m
TR |
Q) As-s:d  (B) sSsdu s
(©) Ds-5:04 @ gusaddia sildl
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22.

23.

Commerce—II | g ' P.T.0.

20.

- 21

Who popularised the PC system ?

(A) IBM (B) Infosys

(© Compaq ®) MIT

YLl wela s uudld 50 ? o |
@) wsS.o0.An, (B SsiRlla '
© 5 © NS4, |
Management by ebjectives (MBO) term was propounded 'by :
(A) Peter F. Drucker (B F_. W. Taylor

(C) Henry Fayol (@) Elton Mayo

Giagés- daardl vaa 3 salda 56 AlBaa uQwueld sal :
@A iz Asg, §3a - B) 2s.so1ey, 24

© 3 3 | (@) Raet Al

Span of control means : :

(A) Maximum number of subordinates to be supervised

(B) Maxlmurn number of supervisors in an organisation

(C) Management control system

(D) Decentralisation

vigu sidads ed : |

A) Aliaru [Fae dsn Hendy dvumi s sdi s{usid Rlan
B) Aandani Rdasil dv

(O) Awas dign yeld

O R3dswm |
Hawthorne expenments were conducted by
(A) Elton Mayo - (B) William Quchie
(C) F. W. Taylor (D) Marry Porker Follett
sl ol (3 mt&a Aldd @Rt sl8 QA e edi
@A) RNaz A4 | - B [Rdlun syl
(C) »§.sey. 243 | @) AN wir side



24.

25,

26.

27,

- (C) Customer relationship
WEL weuellsond vt fAA ool w2 usia I3 D

Theory Z is an explanation of :
(A) Motivational process
(B) American style of management

(C) Assumptions about Japanese Orgamsatlonal set up

(D) Indian style of management

sl Rugia-l anygl w2d :

(A) Gax uBa |

®) @l Mﬂﬁ.&ﬂ u.a[a

© AU agRautdall @ WA arreuzl
@) cuadla Awaq el

_ Fiedler's Contingency Model explains ;

(A) Leadership styles (B) Motivational process
(C) Communication styles (D) Decision-making styles
Bsrald MRidwd (Contingency) Midd AHAY & :

@A) B ugla (B Gy ulEu

© “ddl -l wgl O Rl ugl
The focus of traditional cohcépt- of marketing is on :

(A) Customer satisfaction - (B) Sales volume

I D) No loss no profit

A) 3ussivl Adin (B
(©) s wuvisd @) R A5 AR sain
" Which one of the followmg is not an attnbute of service ? |
(A) Intangibility ' (B) Inseparablhty
(C) Heterogeneity o Homogenelty
(1 qpudanidl 5§ oneid aq..-u Jawd wrugdl <@l ?
(A) w0 ®) Birviasidiagl
© Radaa L @) Al
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28,

29.

30.

31.

When a single name is used for branding a product, it is known as :

(A) Umbrella branding (B) International branding

(C) Single branding - (D) National branding

8w Gewedn sl sy FUR s UM 2uMa] wd cud o DA Yoso
vy @ : -

A ool wusloy - ®) Bid Ay ouegloy

(C) Rine su-slo | ®) U su-€lo

For finding out the disguised reasons for buying a product, the group of
techniques, used is known as : '

(A) Statistical techniques _ (B). Marketing technigues

(C) Projective techniques (D) Forecasting techniques

Beuet-fl wlel sa W2 aeuqelz gid sl el siaa GuRam Aaudl uglRA
1 oot vilqwiy @ : o o -
@) issily vgRai | ® Wi uglail

(O usey {3l yglil T O yalgu uglai

- Non-personal stimulation of demand for a produg:t or service, by planting in

a published medium or obtaining any other favourable presentation that is
not paid for by the sponsor is called :

(A) Advertising = " (B) Marketing

(C) ‘Publicity o (D) Selling

Gevtent viaarL Al Wi Birt uBasid Go- Uy, dsielld Ay g A
Guacy 53aL 2”1 A 515 el UGN WU F -, WA gt Ysasht udl

well, Aq A yool Aeauni 2ud B ¢

@ Ravw B) I

© Nu O W

Which of the following lies beyond the scope of Finance Function ?-
(A) Capital structure decisions  (B) Sales decisions

(C) Investment decisions D) I?ividehd-_ decisions

T wdd S oped @l stden seldal ez B 7

A) Y8l v 3L Fefyy ®) dwa (sl

(© Usel Aelyl O Rdls-s Relyl

Commerce—II _ 11 . - PT.0.



32.

33.

34.

35.

(© ueulasod Mo

() Qtélo{lfa-t*ur{l-*ﬂaa

The impact of a given percentage change in EBIT on the percentage change
in EPS is measured by one of the following : :

(A) Operatmg leverage (B) Super leverage

(C) Financial leverage : (D) None of these

S.oll.auS.d. (EBLT) 4 estaudlni ddi sl U $.. A, ( EP.S)

wi adl estadni sl A4l S5 As ugla as i 2ud 8 ¢

@) sisd dlaly - ® A% dlalx

© -weufly dlaly | O il sidun Al

By changmg the relative proportions of debt capital and owned capital in
the capital structure of a firm, the cost of cap1ta1 can be changed This view
was supported by : '
(A) Net Income Approach
(C) Traditional' Approach

(B) Net _Operating Income Approach
(D) Modigliani-Miller Approach

Al 48l i gt Yol A Wl HelHl dcifid wHiHL FrE1R 53R

4SIrL uSdML #3512 431 unu d . nctcn—[l R Q-1 sa1 ARl
sl 20dd & |
@A) Al vasl o (B) aﬁm{l sdn vuasl A™om
D) “wisIRila-l-e ™o
Which of the following objective is false for holding cash ?

{A) :Transaction motive (B) Precautionany motive .

(C) Speculative motive (D) None of these
ASS AW sl A0 GRabiidl sui Gia way & 7

(A) HAYR Gyt (B wadAdl Gdr-t
© S Gax (@) 2uidl sidwa -l

Who has pleaded that dividend policy of a firm is mlevant as it does not

affect the wealth of shareholders ?

(4) James E. Walter (B Myt;on Gordon

(C) Modigliani-Miller (D) None of these

RAss Adl 3 eiesA-D Pasdin 22 sl Agiael & WL W2 vkl .
8 Adl Ruad S s34 § ? N

@) F6. dieer C(B) WHRAA dS

O 2idl siduw R
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36.

37.

38.

39,

The essence of human relations s :

 (A) To emphasize economic needs of employeéé
B) To éx_ﬁphasize social needs of employees

(CO) To emphasize production teéhnicjues

(D). To emphasize welfare activities of employees

Mg AL W A D Y

@) sl s R Hea g
®) sfupi-l wiuls oAU e dng
(©) Gewtert 25157 Mg UG

@) sl sewastdl ugmaN Heed 2ung
-Which of the following is an example of social assistance ?

(A) Disablement benefit (B) Sickness benefit
(C) Education benefit (D) Maternity benefit
DAnidl 55 olod MU HEETL el dd3 Aal 1A & ?
@A) L s ®) uiefl et

©) Aalns arm D) nyl @t
Indian Labour Conference was set up in :

A) 1919 (B) 1920

(©) 1939 D) 1942 .

oiclle HR sivs-A sul i @S edl ?

@A) e / o .(B) 10

©) 1¢3¢ (D) R

The operative functions of Human Resource Managﬁment includes :

(A) Procurement and development (B) Compensatmn and mtegratlon
(©) Mamtenance - (D) .All of these ’

WA AL At vinelsaqdl sid-il wwda iy B

@ el 27 Qs | B %4l R Yarellaal

© anasl -- O) >udai egiy
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40.

41.

42,

The best method to send an employee for 8 trammg programme is :
(A) As per the reoommendatlon of the supemeor

-(B) As per the request of the employee union

(C) By assessing whether the needs of the employee meet the programme
D) At the discfetion of the management |

s el R Hisaar wni wi ua[& 8 :

@ RAas(l sl wud

® sl dudl ecama Yo .
(© sl w3RALd Yorertt sidsuL ‘-L-’-ll&vi'tl 2L

D) dwa-l yusl v swalRa

The main function of a bank is :

(A) Mobilisation of deposits

B) Providing loans and advances
(C) Providing remittance facilities

(D) Deposit mobilisa.tion and advancing loans

Gsq oy s A Yoo @ :
(A) vy (B
B) dit wuA A 33 wsg

© -4 unas Yz wedl

D) el uS z»t& Rua
The lender of the last resort in the monetary system is :

- (A) State Bank of India (B) Reserve Bank of India
(O) State Cooperative Bank ®) Commercial Bank

o pudla uglani il wsius 3 A0 wmudg s s B
(A we ds s SRuL B Rod ds 208 SBu

(€ w2 fiviudda ols” O ulells 6y
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43.

44,

45.

46.

Important suggestions regarding restructuring of banking system in India
were given by

(A) Vaghul Committee _ (B) Chakravarty Committee

(C) Narasimham Committee (D) Tandon Committee

fRwuill 25 AR Aot ugRni Yl morudly 335031 531 249, el
yasdl s3q & :

&) aga AMd B usadl alidl
€y en aMd | D) és AMA

A special ﬁnancml institution to cater to the financial needs of small scale
sector, recently established is known as :

(A) SFCs (B) IDBI
(C) SIDBI (D) NABARD

Qg &otell Gelloli-ll Awsudly %fmzucu Adid-l ¥ RRre Audly A diFazui
_AE B Ad 0 Yoo slanyy B

(A) AuRNsAlos (SFCs) - (B) 2udslellaus IDBI)
©) w2udsiol2ns (SIDBI) D) -usus$ (NABARD)

To attract small investors and to provide them diversified mvestment
opportunity is the main function of :

(A) SFC o (B) UTI
(C) LIC D) IFCI
el USSR usslal N aA dRsiyel dise sl 113’1 wsel 9 rﬂvlruma[l

Asd e s1d B

(A) AuAsf (SFC) (B)- ¥l (UTH

(O @a- dlu Ram (LIC) D) sl @FCH

Which one of the following is the most well known theory governing
International Trade ?

(A) Beggar my neighbour theory (B} Absolute cost theory

(C) Comparative cost theory-. (D) Theory of managed trade
widzasdn AR aad! 44 wende RATL el ag Aweflidl & .

A) A2 W ez Rudl B) »orige size Ml
(O ddritis ysa Ry M) RaA s AAxsy 3s
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- 47.

48.

49,

50.

The following institution is known as the Bretton-Wood’s Twins :
(A) UNCTAD and ILO

(B) WTO and World Bank

(C) IBRD and MNC

(D) IMF and IBRD

QA As Al ‘degs AU A ald iaw © ¢

@A) 4.3 LA A8 wA wud. Al

B) soey. .l A [Qsa ds

(© w.60.2u2.8l. 2 An.AAAL

@) »us.Auug. A 2uS.oll2uR. 8l

The principal function of WTO is :

(A) To stabilize the International monetary system

(B) To promote rehabilitation and development of member countries
(C) To promote multi-lateral trading system free from all barriers
(D) To promote socio-cultural development of member countries
soley, 2ol 4 Y 514 8 ¢

(A) xiddly i uglid Ru awd

@®) e 2ol ARt qa st w2l st

©) Hdwel Ay R Rsad »As 2l 4 Ay Rsad qad 31&[5111
@) uod -l Wws ARgRs Qs wy & 20 sBil -

The major foreign exchange earner for India is :

(A) Gems and jewellery (B) Iron ore

(C). Textiles and. garments (D) Engineering goods

oizd M2 Al ay Bua s udl axg 4

(A) AR A FAall ' B®) s13 divis

(C) $14S ddl dulR susi @) $%A] oiadl

The most important, country/countries as India’s trading partner is/are :
&) CIS | . (B) USA

(C) EU D) Japan

MRdA W2 wid AL Aur-u Aeelqi Wl worcu-t Tyl »ed :
a) d.2ws. A, B) y.uu.,

(© yluu yfRun (D) oA
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